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(English Version)

Genemt Inmctious :

1)

(i)

(iii)
(i)

(v
(vi)

(vit)

(viii)

(ix)

: inute : )
First 15 minutes are allotted for eyaminees to read this question paper.
All questions are compulsory,
This question paper is divided into two parts, A and B
B + "

In Part-A, there are 20 multiple cho; ons of 20 marks. Answer should
given on OMR sheet, iple choice type questions of r should be

After mf;rkmg your answer on OMR sheet, do not cut it or use eraser or whitener to
remove tt.

50 mar ks are allotted to Part-B. It contains two types of questions, Descriptive-1 and
Descriptive-2. There are two map related questions (Q. No. 29 (a) and 29 (b)).

Marks allotted for each question are mentioned against them.

Tear off the supplied maps from the question paper, indicate answer on them and
compulsorily attach thém firmly to your answer-book.

For Vision-impaired examinees, questions have been given separately for writing
answers in lieu of map-work. :

PART-A

(Multiple Choice Type Questions)

When did the French Revolution begin ? 1
(4) 17719 (B) 1789 (C) 1780 (D) 1799

Napoleon was related to : _ , ' 1
(A) France (B) Germany (C) Italy (D) None of the above
When did the Jallianwala Bagh incident take place ? 1
(A) 8 April, 1919 (B) 10 April, 1919
(C) 13 April, 1919 (D) 25 April, 1919
Who is the author of the gong ‘Vande Mataram’ ? 1
(A) Bankim Chandra Chatterjee (B) Rabindranath Tagore
(C) Sarat Chandra Chatterjee (D) Abanindranath Tagore
When was the IMF established ? 1
(A) 1940 (B) 1942
(C) 1945 (D) 1944

825 (FB) T | P.T..



10.

11.

12.

13.

14.

15.

How many Union Territories are there in India ? |
(A) 6 By 7 (C) 8 D) 9

In a federal system of government, there is a division of powers :

(A) between the Centre and the States

(B) between one State and other States

(C) between the Legislature and the Executive
(D) between the Legislature and the Judiciary

When was the Treaty of Vienna organized ?
(A) 1814 (B) 1815 (C) 1816 (D) 1817

When was Panchayati Raj established in India ?

(A) 1980 (B) 1990

(C) 1992 (D) 2004

Which of the following is the challenge before Indian democracy ?

(A) Regional imbalance : (B) Social tension and violence
(C) Change of Party _ (D) All of the above

What type of resource is iron ore ?

~ (A) Renewable (B) Flow
(C) Biotic (D) Non-renewable
In which of the following States is black soil mainly found ?
(A) Jammu and Kashmir (B) Rajasthan
(C)  Maharashtra (D) Jharkhand
Which of the following is a leguminous crop ?
(A) Pulses _ (B) Coarse grains
(C©) Jowar (D) Rice '

Which of the following mineral is found in monazite sand ?
(A) Mineral oil
(C) Thorium

(B) Uranium
(D) Coal

Which of the following words refers to the
(A) Internal Trade

(C) International Trade

(B) External Trade
(D) Local Trade

825 (FB) 8
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16, In general, on what basis can the development of a country be determined ? 1

(A) Per Capita Income (B) Average Literacy Rate
(C) Health status of people (D) All of the above
17, Which of the following neighbouring countries has a better position than India in
. terms of human development ? 1
(A) Bangladesh (B) SriLanka
(C) Nepal | (D) Pakistan
18. Public and Private sector is divided on the basis of : | 1

(A) Terms of employment

(B) Nature of economic activity

(C) Ownership of enterprises

(D) Number of workers employed in the enterprises

19. Most of the decisions related to savings and loans are taken in Self-Help Groups 1
(A) ByBank (B) By members
(C) By non-govemment organisation (D) None of the above

20. The major productmn of a product of natural process belongs to which sector ? 1
(A) Primary _ (B) Secondary
(C) Tertiary (D) Information Technology
PART-B

Descriptive-1 (Give answer in about 80 words)

21. Why is Otto von Bismarck called the father of the Unification of Germany ? Give

two reasons. 242
' OR
How was Britain’s food problem solved after ‘Corn Law’ repeal ? Clarify. 4
22.  What is the impact of caste system on politics and society in India ? : 4
OR
A democratic government is a responsible government. Write the answer with
examples. ) 4

23. How has technology and economic development led to over-consumption of
resources ? 4

OR
Write a note on the impact of globalisation on Indian agriculture. , 4

825 (FB) 9 P.T.O.
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i i m
UNDP's criteria for measuring development different fro

24. In what aspects is the 4
the World Bank’s criteria ?
. OR : .
How is the tertiary sector different from other sectors ? Explain with example-
Descriptive-2 (Give answer in about 150 words) ]
95.  Write a short note about the process of German Unification.
OR
Evaluate the contribution of Gandhi ji in the freedom struggle of India. . f
. [ PR = I
28. Describe any four features of federalism. 1 E +1 -2—+1 ; +1 p
_ OR
Describe any two major challenges of democracy. 3+3
27.  Suggest measures for the conservation of wildlife in India. _ 6
OR
Is the future of solar energy bright in India ? Explain. 6
28. Explain the objectives of MGNREGA 2005.
OR
" Explain any three ways by which producer can be exploited in the market. 6
(Questions related to Map-work)
29,

(a) In the given outline map of India (on page 13), locate the following places
by the symbol () with names. For correct mention of name and marking of

.11
location > -2- marks have been allotted.

(i) _The place where the resolution demanding complete independence

was passed. - 1.1

, — =

o | | _ 2 2
(1) The place where Mahatma Gandhi suspended the Non-Cooperation

Movement due to an incident, z + !

213

(iii) The place where Congress session was held in 1920, 1 + 1

(iv) The place where cotton mill workers held Satyagraha. 1 +1

. PR

(v)  The place where salt was made first. . 1 41



In the give '
29, (b) gven outling map of India (on page 15), locate the following places

by symbol wi
y Symbol with hames, For correct mention of name and marking of

. 1
location —, =
2 2 marks have been allotted.

(i) Write the name of any atomic energy centre of India with 58S sign. ';"[é
(i) One sugarcane producing area of this State by Symb‘ﬂ: %+§
(iii) Salal dam with name of the State by symbol L. _I;é
(iv)  The name of a river of South India by symbol ~<<. % ¥ %
(v)  The capital city of Rajastlinan by symbol (9 with name. %45

(Only for Visually-Impaired Examinees in lieu of Q. No. 29 (a) Map-Work)

Instructions : Write answers of the following questions in your answer-book. Do not use
map. '

i) Where was the resolution demanding complete indepeﬁdehce passed ? 1

(i) Due to the incident of which place did Mahatma Gandhi suspend the

Non-Cooperation Movement ? 1
(iii) Where was the Congress session held in 1920 ? | 1
(iv) At which place did the cotton mill workers hold Sétyagraha ? 1
(v} Where was salt made ﬁrst:? 1

(Only for Visually-Impaired Examinees in lieu of Q No. 29 (b) Map-Work)

Instructions : Write answers of the following questions in your answer-book. Do not use map.

)  Write the name of any atomic energy centre of India. 7
(i) Write the name of one Sugall'caﬂe producing area of this State. | 1
(i) Write the name of the State in which Salal dam is located. 1
(iv) Write the name of a river of South India. ;
(v) Write the name of the capital city of Rajasthan. 1.
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